Assignment 2: Profiles of Plate Boundaries
Part 1. Make Profiles across plate boundaries
Examine the plate boundaries where lithosphere is created (MOR) and destroyed (Arcs). The third plate boundary type is the transform fault or sliding boundary. I am not assigning the transform boundaries because the variety of morphologies is too great. Note that transform faults are very abundant in the oceans, linking segments of the MOR. You need to use a higher zoom to look at the plate boundaries than you used to look at the Continent/Ocean dichotomy.
Do the following in GROUPS if possible:  (refer to outline map below)
a. Make maps of and profiles across divergent margins, also known as mid-ocean ridges and then compare your profiles. MORs are blue in the map below. The Red Sea is the youngest MOR, practically a baby. The ridge separating North America and Europe and Africa is the oldest. The ridges in the Atlantic and the Pacific are different so look at both of these.  Save several (4-5) representative maps and profiles of MORs into a Word document. (Try to keep them at the same scale or at least close to the same scale, so your comparisons are not scale dependent). Describe feature(s) common to all ridges. Compare and contrast ridge profiles to define the range of morphological variation among the population of MOR segments.
b. Make maps of and profiles of several convergent boundaries (Arcs) and compare them. Save representative profiles into a Word document. What are the common features of convergent margins?
c. Looking at the profiles and thinking mathematically, in what fundamental way do the shapes of divergent and convergent boundaries differ?
d. Submit via sakai a single word doc with your maps, profiles and written answers.
e. For Groups, make sure everyone in a group is listed. Put names in alphabetical order at the top of the Word doc! Submit doc or docx files only; nothing else is acceptable.
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